)

©)

4)

®)

©)

(7

)

@

q10)

an

a2

(13

a4

(15)

N Y BB DR

% Al

002X 3= an 0.02X 6=
bX0.7= (18 7X0.09=
0.6 X4= 19 0.06 X 3=
005%x2= 20 4X0.8=
2X0.7= en 09 X5=
0.04 X 9= 22 6X0.03=
9 X0.02= @3 0.03X8=
7X0.03= @4 04 X7=
02X5h= 25 HX04=
004X 7= 26 5X0.08=
8X0.07= @7 2 X0.08=
4X04= 28 6X0.2=
007X 9= 29 HX0.3=
002X 2= @30 0.8X 0=
2xX0.03= @ 0.07Xb=
4X0.06= G2 5X0b6=

(33)

(34)

(35)

(36)

37

(38)

(39)

(40)

(41

(42)

(43)

(44)

(45)

(46)

47

(48)

£HE-1 54

A a9 B
8X08= 49 7x02=
9Xx02= 60 9X0.6=
05 X8= 6H 7X0.04=
6X08= 5 6X04=
7X0.7= 63 9X05=
2X09= 54 0.3X3=
05X9= 55 8X0.09=
6X0.7= 66 5X0.03=
4X0.08= 67 2X0.02=
3X0.04= 58 0.7 X 8=
3X0.07= 59 2X0.04=
0.09 X2 = 0 9 X0.08=
9X0.06 = “hH 8X04=
3X0.9= © 007X7=
8X0.3= 63 007X 6=
6X09= 64 2X0.6=



)

©)

4)

®)

©)

(7

)

@

q10)

an

a2

(13

a4

(15)

(16)

N Y BB DO (BRE)

% Al

0.02X3=0.6 (a7 002X 6=0.12
5X0.7=35 (8 7X0.09=0.63
0.6 X4=24 (19 0.06 X3=0.18
0.06 X2=0.1 20 4X08=32
2X07=14 @D 09Xb5=45
0.04X9=036 @ 6X003=0.18
9X0.02=0.18  ©@» 003xX8=0.24
7X0.03=0.21 @0 04X7=28
0.2Xb=1 25 5X04=2
0.04X7=028 ©@» 5X008=04
8X007=0b6  ©@» 2X008=0.16
4X04=1.56 28 6X02=12
007X9=063 @ 5x03=15
002x2=004 ©» 08X9=72
2X003=006 ©» 007X5=0.35
4X006=024 G2 5X05=25

(33)

(34)

(35)

(36)

37

(38)

(39

(40)

(41

(42)

(43)

(44)

(45)

(46)

47

(48)

Jm

8X0.8=064

9X02=18

0.5X8=4

6 X0.8=48

7X0.7=4.9

2xX09=18

0.5 X9=45

6 X0.7=4.2

4X0.08=0.32

3X0.04=0.12

3X0.07=0.21

0.09 X2=0.18

9 X 0.06 =0.54

3X09=27

8X03=24

6X0.9=54

(49)

(50)

®

~—

(62)

(63)

(64)

(65)

(566)

YD)

(68)

(69

(60)

1)

(62)

(63)

(64)

7TX02=14

9X0.6=54

7x0.04=0.28

6X04=24

9XxX05=45

0.3X3=0.9

8 X 0.09=0.72

56X 0.03=0.15

2 x0.02=0.04

0.7X8=05.6

2x0.04=0.08

9 X0.08=0.72

8X04=32

0.07 X 7=0.49

0.07 X 6=0.42

2X06=12



